BASTA BOW GUIDE ASSEMBLY [A482-0005]

BOATLIFTS
—_— & FOR MODELS 7k51, 7k64, 8k53, 8k65

If the carpeted bunk boards have been previously installed, temporarily remove them by removing the hardware indicated by
the orange stars.

(D Bow Guide Weldment, Left (Qty 1) W708-0048
(2 Bow Guide Weldment, Right (Qty 1) W108-0049
(®) Inner Tube (Qty 2) K204-1096

(® Loop Tube Weldment (Qty 1) W307-0004

() U Bolt, 3/8” x 2.00 x 5.00 (Qty 2) S7170-6506

(® Hex Head Bolt, 3/8” x 1.25” (Qty 4) S7103-0506
(@ Set Screw, 3/8” x 1/2” (Qty 6) S7160-6506

Flat Washer, 3/8” (Qty 12) S372-0008

(® Nylock Nut, 3/8” (Qty 8) S362-0008

@ Allen Wrench (Qty 1) Q501-2001

For optional
centering guide

\
N~

USE 3/16” ALLEN WRENCH -
DO NOT OVER-TIGHTEN.

Doc # L392-0090C 6/21/2022

866-GO-BASTA www.gobasta.com © Basta Boatlifts 2022




